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Note: Write answers to the questions on the objective answer sheet provided. Four possible answers
are given. Which answer you consider correct fill the corresponding circle A,B,C or D in

front of each question with marker or ink on the answer sheet provided.
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L1 A algebraic expression of the form ;—?—3 , Q) %0, 2 P()Ex Qx) # 0t A2 }JKJ;J -;%% £ 1-1
P(x) and Q(x) are polynomials is called a: -:‘:—t'llfu I A Q)
(A)  Rational number 2w Ph (B)  Rational expression Jz
(€ Sud £l (D) Mixed surd 1 s F
2. (a+b)(@*-ab+b)=? (a+b)(@-ab+b)=? 2
@ &-v ® @+ © (@-b ® @+0
3. F_g@tqgi,zation ofa*-1is:- <yfdat-1 3
@) @De+DE@+) @ @-DE+) ©@rDE-) O E+DE+FD
4. Ifapolynomial P(x) of degreen 1 is divided by L e x-ad. e n> 15067 PJ.AS 4
polynomial 'x - a' where 'a' is any constant, then : e
P(a) is BT
(A) Remainder & @Zro » ©O 1 L O a a
5. The number of methods to find H. C. F. are: -‘L)U;JUJE.J PLES ()"r" 15 .5
A 4 ® 1 © 2 o 3
g, Product of two expression _ _ = Fe Ut § A -6
HCF HCF
(A) LCM Fidletsi ®) HCF P
©c 0 0 D) L.C.M.xH.C.F Fiduns x Pk
7. Solutionof |x — 1| =4 is: wrflix—-1=4 7
@A 5.3 @) {5,3} © {5,3} o {53}
8 Ifx+1=y,thenXx———y  S—— x+l=yff -8
@ > ® < © = o =z
9. A liner equation in one variable is of degree: -c‘.l':t,_vu(c«bvy LA 9
@a 2 @ 1 < 0 D™ 3
10. Solutionof X = 1is: ' -+.::J’sz =1 .10
@ {1 ® {1 © {£i o {1
11. Inmatrics (AB)' =2 (AB)' =72 &uds 11
A Al ®) B! (© B'A’ ®) A'B!
12. A polygon with four equal sides is called: U LSS 12
(A) Polygoh tuww 2 (B) Parallelogram fusmgis (C) Square . » (D) Rectangle =
13. The number of medians in a triangle is: .q_GmlﬁJufhdw.{s .13
@A 1 ® 2 © 3 ® 4
14. Volume of cube with edge ' " is: o TN AAEAL 14
4 I ® U © - 31 o 1
15. Point on the axis do not lie in any: ’ ‘ AT Bz £ 215
ﬁ (A) aplane g~ (B) line s () quadrant ¢, (D) circle b
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4. Attempt any six paris of the question. (2x6=12) 14 ﬁ7.1¢<:df 2.
(i) Rationalize the denominator. %% &S )
(ii) Define Binomial surd. SIS G ()
(ili) Solve by using formula. (2x + 3y + 2) S zssllrk (i)
(iv) Define cubic l;olynomial and give example. ~uf# Jﬁ'u'ﬁ,r A '.? Aad (V)
(v} Factorize: 2a’- b - 2ab +ac A A0
(vi) Factorize : ¥* - 9x - 90 yf (i)
(vii) Factorize: Xy + 2 A (viD)
{viii) Find L.C.M by factcrization: 18ab%c? , 6ab’c? |, 24ab’? & (Pdi?idpwdﬁ’zn, (viii)
(ix) Find H.C.F by factorization: 12p°¢%, 8p%ar’ , 4p°q’r e Mot s (%)
Attempt any six parts of the question. {2x6=12) -9 4 fizu(c.df 3.
(i) Verify that x =2 is a root of the equation S5x-12=-2 e SH5x-12=-2 ahlex=2 %t (D
2x+1 i -
Giy Solve — = -#JS (i)
{iily 'What is the additive property of inequality; give its example. -G pif b it A (i)
(V) " Solve by using factorization method. X2=8-7x FESE s ()
{v) What is the use of quadratic formula? LS E B (V)
{vi} Define identity matrix and give its exampic. EJem@E S dsd s (Vi)
i) 1A= [® 2] then verify that LA=A Sefatin A= [ 2]/: (vii)
(viii) Write the following matrix in the form of Linear equation. [g:g ‘(f_’é*"] 1;] =[}] e Sesegadd Hoidits  (viiD)
(ix) What is Adjoint of matrix; give example? : Gt pfe el (iX)
4. Attempt any six parts of the question, (226=12) i 4 !?zu;a.éf 4.
(i) Define "Angle". -U:J At (1)
(ii) Iftwo angles are complementary and the larger angle is four ,
times bigger than smaller angle, How many degrees are there |/ p.ob 4 s {1 pTstb gk sl A gyutijxtund/‘-‘:’-“f asin i (ii)
in each angle?
(i) Define " Congruent Figures". o A Jenf e (i)
(iv) Constructa A ABC in which mBC = 5.4 cm, mz B =65° and m< C = 55° s eketg (V)
{v) Draw a semi circle with diameter 4 cm and center at . LhasvaismniLfidaom (007 (V)
(vi) Draw a circle with center 0, and radius Scm. &bt Sem st 0 T L (Vi)
(vi)) Define cube: and write the formula to find the volume of cube? N Sl forb y Pl (vid)
(viii) Write volume of cone formula. s, e A g (viii)
{ix) Write "Distance formula". _uyf g (ix)
Section - I {324
Note: Attempt any three questions from the following: (8x3=24) q,[/v:«gtﬁz:@mr‘f edfelditn-ad
5. {a) It %= V10 + 3, then find the value of (p + %}2 & 'r'i-"‘_»gb( (p+ ;,1-)2?1: %» =yi0 +35 O 5
(b)  Find the square root of (1-.-2:—)2 -4+ %) +8 ;t%0 et ()
6. (a) Resolve into factors x*+ 324 & 174 ON3
(b)  Solve = (2x+3)<(7-4%) &S W
7 (a) Solve by completing the square method, X -6x-3=0 L0 Y Y. YN (ON;
(b) U§e c;ammer's rule to soive'the -simultane(‘)‘us equations, x+3y=1 Jog- g S ne 3 pELS
Give the reason where solution is not possible. 2 + 8y = 0 o e, Wz ()
8. @ Solve the matrix equation for X: If A = LZ4 ﬂ ,B= ﬁ :‘3] A= [__24 ﬂ , B= [i _43] A O
fiEd3X «28=18 3X - 2A =Bl pin
() zza;vsv u?er?tcst?i‘i‘fg) :;!:v‘hlch :;u:l; :qé)i- c;gcand mAD =4.8 cm and ) ‘”{:’Jf“ Sl d e A e (D
S. (a) The diagonal of a square is 14 cm. Find its area. ..u_‘j}#‘.)'/b’;ji..;..;«';‘f;&' 14268, 0 9
®) Show that the points A (6, 1), B (2, 7)and C (-6, 7) are ALCEE, DA BQR, T AG, DS et ()

e vertices of scalene triangle.
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Note:  Write answers to the questions on the objective answer sheet provided. Four possible answers are given.
Which answer you consider correct fill the corresponding circle A,B,C or D in front of each question with
marker or ink on the answer sheet provided.

-u:/r ) Qd_“?uﬁdb:ﬂh"Lfo 7@"(».,«‘3@#4:/‘,4((_}1.2-;&52:: D,C,B,Aal_.‘z;? J(g&Jlr YR
1.1 (a+b)(a®-ab+b})="? (a+b)(@-ab+b)=2 1,

@A 2-v B) (a+by © (@-bvy ®) &+
2. A quadratic polynomial is of degree: .q.l:n?u&?/} 20 2
@ o ® 1 © 2 D) 3

3. Factorization of x* - y* is: dfde-y 3
@A) GxNE+Y) B) x-NEC+xy+y) © G- -xy+y) (D) (x+y) (¢ +xy+y)
4. The number of methods to find L.C.M are: AESLE S P

@ o B 1 © 2 D 3
5. The symbol > stands for: <l > e s
(A)  greater than e (B)  greater than or equal to e
5(()3) less than or equal b ©)  equalto Sl
6. If x>yth 1—’:)'“'“;}’5 %--—-—-f—o}’nx>yﬁ -6
@ = ® = © > ® <
7. Solution of *=11s: <irfei=1
@ {1} ® (£} (© (=i} ® (-1
8. Two matrices with the same order and equal corresponding BB UM RIS, LR Io 8
elements are called:
(A)  equal matrices {17 ) (B)  diagonal matrices G2s
(C©)  square matrices R, (D)  unequal matrices sl F
9. Inmatrices (AB)"' =? (ABy'=? &uk 9
A) A’ ®B) B! (© B'A ® A'B!
10.  The opposite angles of a parallelogram are 9.2 LS L .10
(A) Unequal fi=gF (B) 90° © 180° D) equal S
11.  Anarc greater than a semi-circle is called: < QW UISha st 11
(A) Minorarc Y 2771 (B) Chord 7
(C)  Msajorarc U7 (D)  Diameter .
12. The altitucie;é of a triangle are: LLnlEslath |12
(A) Collinear ;55 (B) Non-collinear s (C) 5 (D) Concurrent £, i3]
13.  Volume of a cube with edge 'I" is: 21 WHAE AL 13
@ P ®) 3l © v o
14.  Points which do not lie on the same straight line are called: LW Un e Lineds |14
(A) Noncollinear w44 (B) equal (i- (C) Collinear wf (D) Zero o
15. A point in 4% quadrant has its ordinate: -‘45,:.:.&{.‘.,,&5/7&378»;;&4&;, -15
(A) Positive =t (B) Zero # (C) Negative & (D One £
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2. Attempt any six parts of the question.

(viii)

(viii)

(viii)

GIroup - 11

(2x18=36) Q"J P "2”9/ ?

St

-éd’ /’Z l{c_al(

Section - 1

(i) If P(x) =9x>-2x* +3x + 1 then find P(2). L PQRYIn P(x) =9x°-2x* +3x+ 1/
(ii) Solve by formula: (ab - ﬁ 4 LSS esalir s
(ili) Define pure surds. -q/..g;’&(‘ VT el
(iv) Factorize. a+a-3a’-3 -éﬁf 4
(v) Factorize. x*+5x-14 :2“..&‘,}/"’9121
(vi) Define cubic polynomials: LId PSS et
(vii) Find H.C.F by factorization 3y, 12x yt 158 ¥ -q/?:"’(‘ i sLSE
Find L.C.M by factorization: yz, xy'z xyz .‘_.é-?(p"ﬂf hSao3($ o7 2k

(ix) Factorize: a’ b*+512 -é:qj 3
3. Attempt any six parts of the question. -’4‘-:1}’ fizugcéf
(i) Define linear equation v Loy ¥ & abkxu""
(i) Solve. 32x+5)=25+x LS
(iii) Solve. lx+1 = 5 &/
(iv) Solve by using factorization method 5x =x’+6 éd’ Uof 2ok
(v) Solve by using factorization method 2x+7DHx-1)=0 S f 2ok
(vi) Define zero matrix and give example LS Ling Sy j 3o
(vii)  Find transpose of given matrix D= [—; 1 2 & s I g z &3
Find the matrix product [—3 2 ] [—1 5 = A

4 -~1ll-1 3

(ix) 15313; gslcl)ll:ring find the given matrix is singular or non [-1 2 i] st e b VL S . LSS
4. Attempt any six parts of the question. ZJS ﬁm.;:_‘;f
(i) Define reflex angle and draw diagram. a A2 e b PalZE s ST
(i) Find 'a and b' in the following diagram. B 77 .‘j_/ p"" bt a' AP L5Cs
(iii) What is the altitude of a triangle et Pl il okt
(iv) Ifthe lengths of sides of a triangle are 3cm ,4cm and LI ATUn G s a2 53U S Lot/
Scm. Is it a right triangle? - 5 J.n.:.-lﬁ‘,:! st

(v) Define cube and write formula of its volume. - g(u 5 A;g(f LTiniegs b P
(vi) Find the area of a triangle whose base = 8cm ,altitude =15cm 8cm = 040,15cm = AN -ﬁfa’:(’:"‘.}'zb’w
(vii) Define non collinear points. LS P seusa
Find the distance between the points . (-1,3) ,(-2,-D -u_’/r:“".lntn}y»b’ui

(ix) Locate (8, -3) in the co-ordinate plane. N Lt {(8,-3)

Section - IT (22

Note:
5. (a)
(b)
6. (a)
()
7. (a)
N
8. (a)
(b
9. (a

Attempt any three questions from the following:

(8x3=24)

If x =+/3 - /2 then find the value of (ii)x-i—and(ii) X2+x_1z yredinx=v3 -2

Find the square root of the following :  (t- -:- Y-4(t+ % )+8 (t#0) A Y A
Factorize: 43x*+5x-243 &bz
Solve and check V3x—2-Vx =2 LSS ey /S
f l:lrlt;i ;}vtc;l :ﬁn;eﬁ::;;c; sp;):ftive odd numbers such that the Yy Aurp L ;‘:( et Gt J,J/ Zin
Solve, using matrix inversion method. 3:;)3';— =lg ES el gk

N 13 -
/e B'B=1ixB= [_3 _2]/:
it i e LU E Sin 2 F a0 USE 1L A e bl
-Zrbzu'b
-g_fr)("‘(?-n/'f&/ 6‘ﬂub’aﬁli'/:l}{‘jr9dﬂ:g{u)’ﬂ;}(ug
< D(1,1) H5C(2,5.8B@,-3)A5, Sy =t
AT

¥ B=[5, 7] .thenfind B B=1I

Draw a circle passing through the three vertices

of an equilateral triangle with length of each

side 4 cm,

Find the volume of cone with altitudes 9 cm, radius
of base 6cm.

Show that the points A (5,4),B (4, -3),
C (-2, 5) are equidistant from D (1, 1)
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2,
®
(ii)
(iii)
(iv)
()
(vi)
(vii)
(viii)
(ix)

3.
)]
(ii)
(iii)
(iv)
)
(vi)
(vii)

(viii)

(ix)

(vi)
(vii)
(viii)

(ix)

LI f ezl il e $ e Ltitn—ss

M s

()
o 6
(&)
® -7
(&)
o -8
()

® -9
()
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